BANZEDOZ

3

it 5% 23 A O 2
a5 DA I | gz o0 5 I
Jtei G 2 s G 550
kiR (ﬁfﬂgﬂk;y\ A b;—é.\z::ou?f _ BRI A RO
2111, 532. 28 DIHFEN) EATS =) FA)
T g | 67.23 ME= | 161.01 nof| ZENIHEA
ESEESEIl 67.49 m 1 s 82.98 m
R T 67.49 m FAMRE] 9.44 i =N 4t
& IrEFE = 106.70 i P 56.41 m
) TN EFEE=E ) i
- (1) = 31.05 m HHE 27.70 m| NI
E = NI A== b e 2 = 2
%%Eg%‘% AR FEE = 28.43 m kB == 113.60 mi FNHH
n | g | oo .
(e e ) 124.18 nf | “FERILA PRAE 58.42 ni
FEFE=E 2 » 2
(FRE S eR) 133.33 m | P m
EEHET VA 3 IR [ REE R 25 44
NN g i 1R FEEE RS B - aastE WmE3E
%QEJ‘U\)?HU7% 9 R FE1 OR;
= |BEMY 7 b 1 5 (A ] — 2 10X
@354?4V7ﬁ~P 55 (W5 E X 5%
%?Ewﬁ 15 BlEs Xy 2 55
E%@%@ 1 FE |5 | 3T T L 51k
<EXFVy%¥~ 3 B[ RENRE T L 514
% P i A 3 5 {1 | DR A et I 2okt — 23t
BATHIB D 2 2 2 AR N pER 11K




